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QUESTION 1

Which vSphere feature will help an administrator th have zero-downtime for server maintenance in a datacenter? 

A. Snapshots 

B. Distributed power Management 

C. Dynamic Resource Scheduler 

D. Resource Pools 

Correct Answer: C 

 

QUESTION 2

Which two features of vSphere helps organizations plan for disaster recovery? (Choose two) 

A. High Availability 

B. vSphere Replication 

C. Fault Tolerance 

D. Data Protection 

Correct Answer: BD 

Explanation: vSphere Data Protection (VDP) creates image-level backups of VMs within your environment. 

It essentially captures the entire VM entity and stores it in a specified location. In the event of a VM 

deletion or other similar disaster, the VM can be restored in its entirety utilizing VDP. 

vSphere Replication (VR) is a vSphere feature that copies VM information from one location to another. 

These locations can be within the same cluster, a different cluster, a different vCenter, or even a different 

datacenter. It is a continual copy of a VMs state performed on a defined interval. As with VADP, it 

replicates only the changes made since the last interval to reduce network bandwidth and increase copy 

times. 

 

QUESTION 3

What is the option to increase CPU resources for a virtual machine (VM)? 

A. decreases the CPU Share value on the VM. 

B. Move the VM into a different folder 
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C. vMotion the VM to an ESXi host with greater CPU capacity. 

D. Add a vCPU to the VM using hot add where supported 

Correct Answer: A 

 

QUESTION 4

Which two VMware solutions help organizations plan for disaster recovery? (Choose two.) 

A. High Availability 

B. Fault Tolerance 

C. vSphere Replication 

D. Site Recovery Manager 

Correct Answer: CD 

 

QUESTION 5

. In which two situations should data collection level 4 be used for performance monitoring within vcenter server ?
(choose two ). 

A. For short term performance monitoring 

B. For long term performance monitoring 

C. when collecting all available metrics 

D. when collecting the least number of metrics 

Correct Answer: AC 

 

QUESTION 6

Which two features of vSphere help address virtual machine up-time challenges caused by host failures? (Choose two.) 

A. Virtual Volumes 

B. High Availability 

C. Snapshots 

D. Fault Tolerance 

Correct Answer: BD 
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QUESTION 7

Refer to the Exhibit 

What vSphere inventory object is represented by this image? 

A. Datastore Log 

B. VSAN License 

C. Customization Specification 

D. Storage Policy 

Correct Answer: D 

 

QUESTION 8

Which feature of vSphere networking restricts the inbound and outbound network bandwidth of a group of virtual
machines? 

A. Differentiated Services Code Point 

B. Port Mirroring 

C. NetFlow 

D. Traffic Shaping 

Correct Answer: C 

 

QUESTION 9

When powering off a vApp, in which order are the virtual machines powered off? 

A. in the order in which they were powered on 

B. in alphabetical order by virtual machine name. 

C. From highest to lowest startup order. 
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D. From highest to lowest network bandwidth consumption 

Correct Answer: C 

 

QUESTION 10

What three types of objects can a Quick Filter be used to display? (Choose three ) 

A. Resource Pools 

B. Clusters 

C. Virtual Switches 

D. Virtual machines 

E. Datastores 

Correct Answer: BDE 

 

QUESTION 11

Which two are valid descriptions of how Storage DRS is used in a vSphere implementation? (Choose two.) 

A. It reclaims overprovisioned capacity to increase resource utilization. 

B. It keeps workloads on storage devices more evenly balanced 

C. it monitors the storage habits of virtual machines. 

D. it allows you to set shares on VMFS datastores to manage congestion 

Correct Answer: BC 

 

QUESTION 12

Which are two key features of vRealize Operations? (Choose two.) 

A. Realtime Log Monitoring 

B. Workflow Automation 

C. Guided Remediation 

D. Predictive Analytics 

Correct Answer: CD 

 

QUESTION 13

Latest 1V0-621 Dumps | 1V0-621 Practice Test | 1V0-621 Braindumps                                5 / 6

https://www.pass4itsure.com/1v0-621.html
https://www.pass4itsure.com/1v0-621.html
https://www.pass4itsure.com/1v0-621.html


https://www.pass4itsure.com/1v0-621.html
2024 Latest pass4itsure 1V0-621 PDF and VCE dumps Download

Which two are challenges that could be resolved by implementing data center visualization? (Choose two.) 

A. The IT department allocates 60% of its budget to maintain server infrastructure. 

B. An organization\\'s physical server infrastructure averages 30% utilization 

C. The IT department is reporting increased security threats at the server level. 

D. An organization\\'s physical server infrastructure is approaching 90% utilization. 

Correct Answer: AD 

 

QUESTION 14

Which solution monitors an organizations infrastructure for efficiency and performance across both the virtual and
physical infrastructure . 

A. V realize operations manager 

B. V realize automation 

C. Horizon (with view) 

D. V cloud director 

Correct Answer: B 

 

QUESTION 15

Which two statements describe the features of a cluster managed by vCenter Server? (Choose two) 

A. A Cluster is a package of multiple interoperating virtual machines that can be distributed in OVF format. 

B. Host Resources become part of the cluster\\'s resources. 

C. A cluster consists of multiple networked ESXi hosts. 

D. Clusters require High Availability (HA) or vSphere Distributed Resource Scheduler (DRS) Solutions. 

Correct Answer: BD 
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